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Some months back I had an idea that seemed so good, I thought it must be
flawed.  So, in my head I put it aside.  But it was one of those ideas that just kept
on burning.  Finally, I could not hold back anymore and wrote the following article
which as of this publication has been sent out through the Business Wire and
other media outlets in hopes that this idea might take hold.  Please feel free to

share with me your thoughts and comments at parnell1@nacYa.com.  

²² A Possible $1.43 Trillion Stimulus Plan 
We Cannot Refuse ²²

 I happened upon an idea to stimulate our economy, an idea so simple,
straightforward, with potential for massive and positive impact along with multiple
and pervasive ripple effects, that my idea seems almost too good to be true.  And
as soon as I begin my story, for many of you the light bulb will glow, and you too
will instantly see the beauty and simplicity of this plan. 

Economics 101: 

Before beginning, however, I want to review some basic economics, as I recall
from my formal education more than 30 years ago.  I must qualify that I am not an
economist, though I have taken classes on the subject.  My degrees are in
accounting and finance. 

There is a concept in economics that I refer to herein as “bang for the buck.”[1] 

From a government’s economic stimulus[2] point of view, this means if the
government spends $100 billion, how much bang for the buck will they get?  If it is
spent on roads and bridges, they’ll get exactly $100 billion worth of bang for the
buck by creating $100 billion in construction jobs to grade and prepare

foundations, mine gravel, make cement asphalt and iron,  form steel girders, etc.
which are then put into place to create new roads and bridges.  I refer to this type
of stimulus as a 1 to 1 ($100 billion · $100 billion) bang for the buck. 

Alternatively, the $100 billion could be used as farming subsidies, to buy tractors,
irrigation equipment, land, seeds, etc. to grow $500 billion worth of crops,
requiring employing workers to harvest and transport crops to plants and
warehouses for processing.  The final product is then packaged and transported
to stores for ultimate consumption.  In this scenario, $500 billion in jobs are
created because that is what the ultimate value of the $100 billion in government
grants produce.  I refer to this type of stimulus as a 5 to 1 ($500 billion · $100
billion) bang for the buck. 

The difference between these two types of stimulus is that the $100 billion spent
on roads and bridges has an immediate economic impact with the work usually
occurring within a 2 year time period.  The $100 billion stimulus spent on farming
may be spread over 5 years before its full $500 billion impact is felt in the



may be spread over 5 years before its full $500 billion impact is felt in the
economy.  It takes time to cultivate, grow, and harvest crops. 

Tax incentives, given by reducing an individual’s or company’s tax rate, are often
used to produce an economic stimulus, but have a less predictable impact.  That
is because once the reduction in tax is given, no one really knows how the
recipient of that reduction is going to use his/her tax savings.  For example, if a
business owner receives a $75,000 reduction in tax, he could simply put that in a
savings account, thus creating no new jobs.  Or, he could hire an assistant to
take on some of his more mundane, less productive tasks, freeing up his time to
play more golf, thus creating one new job.  Or, he could hire a business
development manager or salesperson who might be able to bring $750,000 of new
revenue into the business thus allowing, even necessitating, he hire 9 additional
employees (for a total of 10) to accommodate this new growth.  In this later
instance, I refer to this type of stimulus as a 10 to 1 ($750,000 · $75,000) bang
for the buck. 

But as you can see with the business owner, the tax reduction of $75,000 may
have the effect of zero economic stimulus (only enrichment) to a 10 to 1 bang for
the buck stimulus.  So, a tax stimulus can be unpredictable. 

Here is m\ idea: 

A few weeks ago, in a casual conversation with my executive assistant, Diana,
she mentioned that “if she just didn’t have to pay on her student loan, she could
buy a house, which was a long way from happening.” As I thought about her
comment, I wondered how typical Diana’s situation was.  I chatted with friends
and acquaintances to see what their personal experiences were, and from this
anecdotal information, came up with a hypothetical-Diana—whom I’ll still call
Diana—who embodies the typical college graduate, with student loans to pay. 
From this point forward, all references to Diana are hypothetical. 

H\pothetical Diana: Diana’s student loans total about $40,000, with 9 years
remaining, paying $265 per month (which gradually increases over the term to
about $800 per month), and carry an average interest rate of approximately
5.7%.  If our government were to simply allow her to defer payment for, let’s say,
five years, she could use that money to buy a $95,000 home based on a 30 year
(360 payments) mortgage, 4.00% mortgage rate, and monthly payments of
$265.00 ($95,000 is approximately the present value of 360 payments of $265
each month discounted at the annual rate of 4.00%). 

Factoring in federal tax savings based on Diana’s 15% tax rate[3@, Diana could

currently afford a $312 ($265 · .85) monthly payment.  With this new payment
and applying the same present value calculation as I have above, she could afford

a $112,000 home.[4@ 

In this scenario, the government has forgone (not forgiven) $3,180 ($265 x 12) in
the first year and Diana has stimulated the economy by purchasing a $112,000
home.  This translates into a 35 to 1 ($112,000 · $3,180) bang for the buck

investment into our economy for our federal government.[5@ 

Note:  I am not suggesting the government write off Diana’s debt, so essentially
the receivable from Diana remains on the books.  If her loan continues to accrue
interest, the cost to our government is nothing (other than temporary loss of cash
flow—$3,180 in year one).  Alternatively, interest could be forgiven during the five
year term (with the principle remaining intact), whereby the cost to our
government would be interest forgiven equal to $11,400 ($40,000 x 5.7% = $2,280
x 5 years).  This still translates into an enormous out of pocket bang for its buck
economic stimulus.   

A second scenario:  If Diana was paying a flat payment (which is the case with
many student loans) on her $40,000 debt over the remaining 9 year term at 5.7%,
her payment would be $371 per month.  Factoring in tax savings based on a 15%
tax rate she could afford a payment of $436 ($371 · .85) per month, which means
she could afford to purchase a $156,000 home.  Again, this translates into a 35 to
1 ($156,000 · [$371 x 12 or $4,452]) bang for the buck stimulus by merely
deferring the repayment of the loan. 

Economic Impact: 

Let’s say there are 100,000 Dianas who take advantage of this stimulus plan
based on my second scenario, that would translate into an overall stimulus of
$15,600,000,000 ($156,000 x 100,000).  Let’s say there are 1,000,000 Dianas—
that translates into $156,000,000,000 ($156 billion) in economic stimulus, and 1
million home sales and purchases. 



million home sales and purchases. 

WhaW iV Whe PoWenWial ImpacW? 

My illustrations above only show one side of the equation.  Diana currently pays
$500 a month rent.  If this was converted to a mortgage payment and tax affected
as I have done with her loan payment above, this translates into $588 [$500 · .85]
per month.  Add to this the tax affected loan payment of $436 per month via the
student loan deferment, she can actually afford $1,024 ($588 + $436) per month
for a mortgage payment.  Assume Diana allocates $224 per month to pay real
estate taxes and any increase she sees in utility costs, this leaves $800 per
month for a mortgage payment.  With this amount, and applying the same
present value analysis as above, Diana can now afford a $286,000 home. 

Now, the bang for our government’s stimulus buck is 64 to 1 ($286,000 · 4,452). 
Assuming there are 1,000,000 Dianas out of the estimated 30,000,000 to
40,000,000 people that currently have student loans who take advantage of this
home purchase opportunity—that would translate into a $286,000,000,000 ($286
billion) economic stimulus, and for virtually no or very little cost to our

government[6@.  And if 5 million, or less than one-sixth of those carrying a
student loan, choose to purchase a home under this deferral plan, the overall
economic stimulus from this program could be as much as $1.430 trillion, with 5
million home purchases and sales.  This is double the dollar amount of any
stimulus plans our leadership is currently tossing around, and at a fraction of the
actual cost. 

A Good QXeVWion? 

Some of the Dianas might ask:  Why can’t I buy a house now without this help; I
pay $500 per month rent and could use this towards a mortgage and still make
payments on my student loan?  There are two possible answers to this question: 

1. Yes, you may qualify and should look into it, or

2. The reason(s) you do not qualify could be one or a combination of the
following: 

a.���������Lack the required down payment.

b.� � � � � �Poor credit history or lack of sufficient credit history to give the banks
the confidence they need to make you a loan.

c.� � � � � �The combination of a student loan debt and a mortgage debt (and any
other debts in Diana’s picture) is too much for a bank to make the loan
based on pre-defined debt to earnings ratio requirements.

d.� � � Due to the weak economy, depressed housing market, excessive
foreclosures, and unpredictable near term prospects for economic
recovery, banks have raised the bar, so to speak, on with whom they
will make a mortgage loan.  In other words, six years ago, Diana may
have qualified given her same circumstances. 

The point of this whole plan is to find a way to help Diana buy a home.  Deferring
her student loan may just be the way to make that happen.  To succeed, this
plan requires support from the government and the banking industry, as well as
the participation of all the Dianas throughout America. 

FacWV AboXW OXWVWanding SWXdenW LoanV: 

Based on my research, the total amount of student loans outstanding is close to
$1 trillion, with around 80% allocated to federal debt and 20% to private debt.  In
recent years, the average debt balance on neZer loans has risen to $27,200.  I
looked for but could not readily find information on the average debt of all student
loans, the number of loans, number of people with loans, average term remaining,
average monthly payment, average overall interest rate being paid, total annual
receipts, and total annual interest received.  This information may add further
perspective to the feasibility of this stimulus plan, but in my opinion, likely not. 
My earlier estimate of 30 to 40 million student loans outstanding was based on
simple math, dividing $1 trillion by an average loan balance of $25,000, which
equals 40 million.  In all likelihood, the number of outstanding student loans is
greater than 40 million as the overall average loan balance of all student loans is
undoubtedly less than $25,000. 

Fine-TXning Whe Plan: 

1.� � � � � In this plan, I would recommend that no or very little down payment be
required for Diana to buy a home for three good reasons: 



required for Diana to buy a home for three good reasons: 

a.�������She may not have the necessary money saved and this could be a huge
impediment to people like her, who otherwise qualify to buy a home.

b.� � � � If she does have the money saved, she might then use it to buy
household furnishings providing further economic stimulus.

c.� � � � �Bank exposure is lower now on home purchases than it has been in
many years because values are close to bottoming out, if they haven¶t

already.  Meaning, the downside with property depreciating further than
it already has is very low.  (One of the primary reasons for requiring a
down payment is to protect the bank¶s security [which is the property
being purchased], should it decline in value.) 

In lieu of a down payment, the government could guarantee the banks 5% to
20% of the purchase price. 

2.� � � � � I would suggest that the length of deferment of student loan payments be
based on the individual¶s housing transition and range from maybe 4 up to 8
years.  For instance, if one is upgrading from an existing home to a more
expensive home, I would suggest that transition carry a shorter term of
deferment than when one is upgrading from an apartment.  Purchasing a
newly built home may qualify for a longer term of deferment than buying a
previously built home unless, say, the seller of that home is buying a newly
built home.  The idea here is that the variation in the length of deferral should
be designed to incentivize purchases that will likely have the greatest
positive impact on the economy.  For instance, a newly built home purchase
is guaranteed to put the construction industry to work.  A previously built
home purchase may not put construction workers to work if the seller of that
home is moving into an apartment. 

3.���������A cost to the government that is not addressed in my scenarios above is the
loss of tax revenue from home buyers, like Diana, who are now deducting a
mortgage payment, whereas before were not able to deduct payments for
their student loan and rent.  For instance, in Diana¶s case, assuming she
purchases the $286,000 home and is paying $800 per month, she would be

able to deduct $9,600 ($800 x 12)[7] in interest per year.  With Diana¶s 15%

tax rate, she would pay $1,440 less in taxes each year.[8] 

4.�������For simplicity, I have ignored mortgage loan costs which can equal 1% to 2%
of the total amount being borrowed, excluding points.  In this plan, I would
intend that those costs exclude points and be bundled into the total amount
being borrowed to minimize or eliminate the need for these Dianas to come
up with money out of pocket to purchase a home.  I would also suggest that
the government gain special support from the banks to keep these costs to a
minimum, because the banking industry will be a huge beneficiary in a
reinvigorated economy. 

5.� � � � � �Realistically, Diana is probably not going to use all of the money she has
available in this plan towards a mortgage payment.  In other words, she is
not going to obtain an $800 per month mortgage, because she will likely see
this as an opportunity to improve her lifestyle.  She might only spend $600
on a mortgage payment and put the extra $200 per month into savings or
better yet, buy a new car.  In either case, her extra $200 per month is going
back into supporting the economy.   

In this plan, I would stipulate that in order to obtain the student loan
deferment, the monthly mortgage payment needs to be at least as much as
the payment on the student loan. 

6.� � � � � I suggest it be stipulated that to qualify for a deferment, one must have
graduated from college and have held a job for a reasonable period of time,
maybe two years (and, of course, be current with payments on their student
loan).  This is for a couple of reasons: 

a.� � � � � �It is well documented that a college graduate is more employable and
has a higher earning capacity than someone who did not graduate from

college.  Thus, individuals in this group are at less risk for default.

b.������The longer someone has been with one employer, the more likely he/she
is to remain employed.  This suggests stability and thus less risk for
default. 

7.�� �� ��� �In this plan, I can see the banks wanting to tie the mortgage interest rate to
the amount of down payment applied towards the home purchase because it








